[image: image1.png]B Al FHE

2007 F 8 4 1)

TRZE A Bl A A o 280k B B

Ea=4 3

wRra? £ R

LIS

LTI R 16012 BT EAAT B0 311600

PRF M H LR BB, A 2004 SR
TP B RO B — KR " T E
KRR E RN SRA—EELF DAL
EHRREROEHBEMABATAS FE. =
A Rt R N R R 115,67 b, PR
667 nf P {EIL ] 4730 T, ML FEA 1390 T K
Mgk F R RV AT T .

| BRI FoR—KRE 7K R4 fF

USRI 0.13 71 ho, &
B R R OR A, 5 667 u? BT
5270 76, AR 1197 kg B K 771 ko 7R 426
k) LA SRR B 600 ke UK 1600 07T
L1 EOEE

§ AT 78 1 m, 75 0.30 m, BT 0.6 ~
0.7m00 F LA A, R AT 2= A
1, B 0.23 mo 667 u? 4 6000 HE, 12 A DIFFER
Hoa ATORAEER, K3 A LB,
4B B 0.20 m 667 o K 3300 - 3500
Foos ATRAC FRWE 6 1 15 A A7
AR
12 BA%A

B P S P SRR
AL B R AR R

K AT P M W 2018 % Lo
KREKEBH . RAEHRERE, MR MU
BHBCEOR KN A SN, — O B
W3 AR AR, B AR,
SRR, —ot— 0N RS B AR
BRI RN, KO R,
5667 u WEBRHE S0 kg A BLEE 2000 kg P =
R 50 BLEVHEBIE A 1000 BT TR EeHEC
BN 5, TR NN 30 00 TR RAER
SRR TR AN (R R 8
R 21~ 23 d, FEHEAEH R SRR BT

“30 -

SEEWR: NI 914, R 42" HEH
WG R KR R, R R S e
B 6 AR, 7 A BB, BT RmAERN
S, HRAG R AR, 667 n 3 T M, AR 1S
Ti % 667 u i HUIE 2500 ke. B 50 ke AL
15 kge T A0l A S ROSORE A OB i

2 DI ORI EA

TR KRR R —
5 667 u WE=/ME 20 ke T 2000 ks 85K 500
ke T 500 ke B 667 70K 4000 761667 w0
1500 76
20 R, R

ST KA 30 d 2 A RIS, K
FEUA 0 d EAMICER. ¥k R T 5 A
AT 3 5 T S 5
TR 2018 FOH 6 5 5k A
914. UK FHFDMEEE AR, PR3 s
B AR 1.6 m %8 B 0.3 m, BE
AR 0.7 m B TR — AR L
Vo | AT, BB A A H 2 R
BB 1 TTLA 2 47K
2.2 BHRAE ENE

EF 1A ENHER 667 o S A
25 kg B 25 ke A HLIR 1000 ks FAEIE. T /L2208
ot A M SR RN, — R 667 o IR HLIE.
2500 ke 540 30 kg F 15 ke TLF 3 A 15 -
20 BEHHEE. 4 7P, W8 304 EEB &
FRF 4 15 FEA AU, 45702 K KB LR
AL B, KT 6 A 15~ 2
FH B 0 — D A A A B B
#3540 d Bk
2.3 AR, HEER

1 667 w0 S ~ 6 keo3 AT -4 A
667 o HEIRF 10 kg FFRTEBIE. CFHEH 30 70




